=R EREE (7 H—RILE,

&t FKFEREKh=2.0)

78X10°  m?

mm = 0.148 m
mm = 0.67 m

mm(Lg=SL.2)= 0.285

MPa<ft=176.4MPa
MPa<fs=132.3MPa

MPa
MPa
mm = 0.15 m
mm = 0.11 m

N > Rb= 1988
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1. HiE= RHAEIMMUBERI= YL
2. &= PDFY—P22-28M—Gfz, PDFY—P22-28MGH#2
3. HEHE T mism
(MHFREECEGRESR) w= 25.5
(@7 vh—RIVk
OBAH N= 4
QAR Rk M= 10
@1 ALY DEETETE (PRI DETETE) A= 78
ORBEFEEZHEDEIRYEZTDLFEIOTUA—HRILEORAE Nt= 2
@EFAELYBBELETOES Hg= 148
(ORI BAEAMNEHT=RILERIY L= 670
BGWgRETHAAMSAHI=RIL MDD SR ELETDIER Lg= 285
4. BREHE(BEONMERUT2HEZMEEALTER)
(DEETRKFRE Kh= 20
()R ETRNERRE Kv=Kh, /2= 1.0
(REFEAKTHES Fh=Kh-W-9.8= 499.8
(A)EEtASEMES Fv=Kv-W-9.8= 249.9
(BYF U A—RILEDEIRA gop FheHe+(W-9.8+Fv)(L-Lg)
L-Nt = 198.8
(BYF o A—RILE DR AR A Q=Fh/N= 1250
(NTA—RILMZETRIENE
@3RS N E 0=Rb/A= 25
Qe AMIENE T=Q/A= 1.6
QBIEREBFAWERKICZIT25E fts=14ft—1.67 = 244.4
o= 25 MPa < fts= 244.4
@Y7 h—RILEDIETE
D7 H—RILEDREL % = BARXLBTII-
@avy)—tOEE = 150
QRILrDIBERARS = 110
@HAEBIRME Ta= 3528
LI EDREHERIYTUH—RILMNE+ DD BEEET 5.
670(L) | 686
285(Lg) ‘ 343
<> <>
s | | | |
LT =[O0
- T ~
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